PRETT T4 I &g TP T3 T BT T PR P AR R I &,
ey T~ faRor 771 TR 8-

Factory Manager want to purchase a new machine for production,
which cost details as per following -

Machine purchasing cost Rs. 5,00,000
Direct material per annum Rs. 2,00,000
Direct wages per annum Rs. 20,000
Variable overhead per annum Rs. 50,000
Fix cost per annum Rs. 40,000
Interest cost 5% Per Annum
Depreciation 10% Per Annum
Output units 30,000 Per Annum
SIS @ famg qeg ufd s — %, 50
Selling price per units of product —* Rs. 50
DI IS fAhey BT AT HRAT AT ?
Which production method is select & why?

'
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: gt yeq g Hifvw ) Gt ueH & 3 IwH £

Attempt all questions. Each question carries equal marks.

"IC TR P folY Tp JATaTD IRl 1' 3 PO Pl TS PR §Y
AT FoC & O i fIdemT Hifrg)

"Budget is an essential tool for management". Explain this statement
and discuss the qualities of an effective Budget.

3rerqr /OR

gofe wfghar @ FHSTSAIExplain the process of Budgeting.

ARG qaiga™ & F7 e 82 yaigae o fafesr fafemt @ ol
CAINI

What is meant by Business Forecasting? Explain briefly the various
methods of forecasting.

are@r / OR

=Aaq it AT & TN R §Q T T o Sddrele ugiy gedi o
U DT

From the following data calculate Long term Trend value by using
"Least Square Method':-

(i) %Y. /PT.0.



9. 3.

Year Output

2011 80
2012 90
2013 92
2014 83
2015 94
2016 99
2017 92

Ararefier aoic @ aRaIa HIg Tor $96 ur-at &t fqdemr S

Define flexible Budget and discuss its merits and demerits.
312197/ OR
o < T AT AR wos BT i i € -

The informations gives below relate to Sita Ram & Co.
(i) 3FTel gt @ AT I

Sales forecast for next year
(i) TP TP B IUISH 2g AU B AT DT AT -

Units of raw material required for the production of one unit:

77,000 Units

Raw Material A — 2 Units
Raw Material B — 3 Units
Raw Material C — 1 Units

(ifi) 3T aTet e o Feel T AT I:
Estimated balance of inventory in forthcoming year:
Stock of Inventory On 1% January On 31 December

(Units) (Units)

(a) Finished goods 7,000 10,000
(b) Raw Material

A 10,000 12,000

B 12,000 8,000

C 6,000 7,000

(i)

9. 4.

9. 5.

(iv) IRt & @R / Cost of material

Material A . 5 Per Unit
B D, 4 Per Unit
C D, 6 Per Unit

It AT S9ie IR BN / Prepare a "MATERIAL COST BUDGET".
o R fewufomt faRag-
Write short note on following-
(i) "™<X e / Master Budget
(i) faspa soie / Sales Budget
312197/ OR

"'goIC FEVGT BT AT 'l 39 B H aredr Hifu ger soieT b
AT USe P TS|

"Budgeting is an exercise in co-ordination". Elucidate this statement
and explain the Human aspect of Budgeting.

“'ITS qoT ITed Ui’ & oMY I U 87 U oATNSRId ScureH
Ao @1 e foeg g fram S 22 9ISy

What do you mean by product and production Decision? How to
Determination of the profitable level of production? Explain.

312197/ OR

UH PREM P Seare e faa=or f77=1 TR 8-
Following details related to factory production cost : {(Manual cost)

Direct material Rs. 2,00,000 Per annum
Direct wages Rs. 70,000 Per annum
Variable overhead Rs. 30,000 Per annum
Fixed cost Rs. 40,000 Per annum
Output units 30,000 Per annum
Selling price Rs. 50 Per unit

(i) ®Y3./PT.0.



=1 W wférg fecaforr fefRag-

Write short notes on the following-

(A) frdereT® TSR / Discriminating Monopoly
(B) ELUf TRRNTIT / Perfect Competition

T & gD G d ATeAreTS el Hifel 71 I8 g
fepret & Ragra 7 #1vs 872

Critically explain the modern theory of Rent. Whether this theory is
10+4=14

7+7=14

superior to Recardian theory?
312197/ OR

IR A MY 7 w27 fIfre gfecaml & qR @t affawur B

What do you mean by Market? Classify the markets from different
angles. 14

TSET T B AT DY I Aeed | IS 3T & faeetyor 7 e
BTSN BT ATHAT PRAT TST &2

Explain the methods of measuring the National Income. What are

the difficulties in analysing National Income. 8+6=14

312197/ OR
ot wR Sfa vt faRag-
Write short notes on the following-
(A) T BT Fa-Yadq Ragrd|
Innovation theory of profit.

(B) 91 & o P MaTS|

Exceptions of the law of Demand.

7+7=14

400

(i)
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Attempt all questions. Each question carries equal marks.

MM : 70

e Irefor Tg THfSE arefemy § 3oy Tuse hifoy germ anfefe fgeeivor

q S 78 P TUSC HIfoRA| Distinguish between micro economics
and macro economics and clasify their importance in economic
Analysis. 7+7=14

312197/ OR

T &Y AT W 3T AT FHAS &7 TR P A bl UTIT e dTed BIRON i
faaeT HIfSRI

What do you mean by elasticity of demand? Discuss the factors
affecting elasticity of demand. 4+10=14

FHACUTS 9% 3 3T a1 FHeAd 82 TS g df fGsa aarsd|

What do you mean by ISO product curve? Explain characteristics of

ISO product curves. 14
312197/ OR

uRacd=elier Jrgural & 7= &t e Hif)

Explain the law of variable proportions.

AT P AT SrgeRumsn @ FEe|

Explain the various concepts of cost. 14

312197/ OR

(i) ®Y3./PT.0.



U 3. URIHHU AT &7 URIHHUN o NfASTdieT H T 3ia) 87

What is Negotiation? What is the difference between Negotiation
and Assighment?

3197a1/ OR

B T &7 TTPT [ATI-T7 J IR TS DI |
What is Cheque? Distinguish from bill of exchange.

ST IR FT &2 TP TS UG PRIVUNAT P T4 H T8 gaisyl
What is the State Commission? Describe its provision relating to its
constitution and procedure.

3197a1/ OR

o1 affeIfR— & T ATEieR B Uewe de Jifvart ®9 F FEg i o
Hepct &7 TS|

Under what circumstances a firm may be dissolved voluntarily and
compulsorily? Explain.

9Tl Pl SMLATIT e AT Il 22 [IFaRydas syl
Explain fully when the condition is to be treated as warranty?
3197a1/ OR

Y WUST Bl SAT H GHPR P HHA-DM ¥ JGT+H TR WTH 872
SEEIER

What are the various remedies awailable to a party in case of Breach
of Contract ? Explain.

400

(i)
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Attempt all questions. Each question carries equal marks.

: gt yeq g Hifvw ) Gt ueH & 3 IwH £

IPIT A MY T FHSI 82 WHPiT qAT Hagd Tl =t it e
BT

What do you understand by Acceptance? Explain the Communicating
rules ralating acceptance and Revocation.

3197a1/ OR

w8y veft fafer uRfefort Ht caren ST 99 ve ey Hr Tty
&l Tt 87

Discuss in brief the various modes in which contract my be
discharged.

iRt 1 gy AR fivd T gt & IfdeR Ter wden @1 guie
DI

Define Pledge. Describe the respective rights and duties of Pawnor.
31797/ OR

a6 G A T TN 52 GUSrT & Al TR T 87 aHesy|
What do you understand by the term Delivery? What are the various
methods of Delivery? Explain.

(i) ®Y3./PT.0.
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fda : ol uig ueal & SR S | I+t v & 3w IHE &

Note : Attempt any five questions. Each question carries equal marks.

9. 1.

=T FwepT | FgcTD T -
Calculate mode from the following data-

Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70
F 10 20 30 15 12 8 5

3197a1/ OR

T F9h ¥ g 91T Y AT He-

Calculate Arithmetic mean from the following data-

Class F
10-20 15
20-30 12
30-40 18
40-50 13
50-60 14
60-70 21
70-80 25
. 7 d9et @ Afde | Ay e s axi-

Calculate mean Deviation from median.

(i) ®Y3./PT.0.



X 10 20 30 40 50 60
F 5 3 2 8 4 7
3197a1/ OR
T Y ferer ST |
Calculate standard deviation.
X 15 25 35 45 55
F 8 13 20 23 25
. R onies s @Rl

Calculate Coefficient of Range.

Class 0-10 10-20 20-30 30-40

F 5 3 2 1
3197a1/ OR

Cwull dRI- / Short note on-

(i) DD / Index Number
(ii) fa9=dT / Skewness

. et TR BT 98 Ty NS S )|
Calculate coefficient of corelation of Karl Pearson.
X Y
78 125
89 137
97 156
69 112
59 107
79 136
68 123
61 108

3197a1/ OR
(ii)

70
9
65 75
15 10
40-50
4

fewquft @1- / Short note on-
(i) PIeT AUt / Time Series
(ii) *TfBT / Dispersion

U. 5. 99l &I v one S al

Calculate Coefficient of Skewness of Bowley.

Class F
0-10 4
10-20 12
20-30 24
30-40 36
40-50 20
50-60 16
60-70 8
70-80

3197a1/ OR
T et &Y AT |
Calculate Standard deviation.
Class F
0-10 5
10-20 3
20-30 2
30-40 8
40-50 4
50-60 3
60-70 2
70-80 1
80-90 4
90-100 9

(iii)

400



9.5

arergr / OR
Y @Al & g fFemaret o earear Hifu
Explain the specific features of farm accounting.
RS @ ft et 82 euTes @ @ AT9- 81 @ A 327 iR 872 U
HIeUf~p ARG W T AT — T T BT T I8 |

What is Trading Account? What is difference between trading and profit

and loss account. Give an imaginary proforma of trading and profit and
loss account.

3rerar / OR

fer=rforRad & 3fdR sdTsa -

Differentiate the following-

(1) fucardar deuc / Balance Sheet and Trial Balance
(2) 7 derm e =i / Trangible and Intangible Assets.

400
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Note : Attempt all questions. Each question carries equal marks.

forder : g4t yea g Hifviw ) Gt ueHl & 3 IwH £

9.1,

9 2.

fr=ifsa Tt & MY WR U derue AR HITg-
Prepare a Trial Balance on the basis of following balance-

%./Rs.
aa / Salaries A/c 5800
fopvTar e W/ Rent & Taxes A/c 1,200
BUTS / Printing A/c 800
YoTd 9TST / Railway fare A/c 1,500
g9 / Discount A/c 2200
dFeR / Creditors 40,000
e / Debtors 30,000
%o / Furniture A/c 2,500
Y+ / Building A/c 35,000
A1 / Goods A/c -Cr. 16,000
e / Cash A/c 26,000
31eX0T / Drawings A/c 1,000
Usf / Capital A/c 50,000

aerT / OR

SIERT XGT YUITetT 3 319 9T FHSA & 2 $9P 1Y a1 |

What do you understand by Double Entry System? Explain its
advantages.

T STIHH & TdIS<re a1 (=iferd et dr wit-

The following errors were committed by the accountant at Geeta Dye Chem-

(i) ®Y3./PT.0.



(a)

(b)

(c)

(d)

(e)

.3

ST Shftepe’d A 350 %, U1 §Y i1 o I @i A 530 %. ford M|
Cash Rs. 350 received from Triman chemicals posted as Rs. 530.

150 . B oI AT 5 1 T ST o Aevs G W UIeC &l & bl |

Purchase of stationery worth Rs. 150 remained unposted from the Cash
Book.

PIATAT TrATeR &b 3 5 260 . A (ol T, T priierst & @t o foraan
TR_ATI

Rs. 260 paid for purchase of office furnitures were charge to office
expenses account.

<} v FHroEt B 300 ®. i IR [ TP @I & HisT | ford) w=t
Credit sale to Trivedi & Co. of Rs. 300 was posted to the credit of theiraccount.
TR TUS T 6 420 . Y (90 G1op i [95h Gidh 7 240 . oAgifen
fopar|

A purchase of Rs. 420 from Murari & Co. was passed through the Sales
Book as Rs. 240.
319 3 AYFEAT DI 54 TPR Lg PRI ?
How would you rectify these errors?
3rerEr / OR
T a1 82 §T 1 gawer e i iyt gt o \férg gl Hifmo

What is depreciation? Describe the different methods of providing for

depreciation.
T, 3R &, T T § RIS &, AT -1 9T J1gurd 3:2 1 310e 1,2008
B BT A forear fe em-

A & B are partnersin a firm, profit sharing ratio is 3:2. The balance sheet
ason April 1, 2008 was as follows:

Sundry 10,000 Sto ck 6,000

Creditors Debtors 8,000
Capital- Less Reserve 500 7,500
(A) 2500 4,000 Furniture 300
(B) 1500 Cash 200
14,000 14,000

(i)

9. 4.

Sga Ty BT B BT FATY 8F T3TI HH B T T aigl F $Hael 8000 .
IR §YI Gt b T 250 . g . AT AT FIRRAT A et 500 %.
< ol Fafch oft. & ot < H 1A TET| JIh 98 e & (ol 39 3MaeT e @il
ERIEN

Firm was dissolved on the above date. Assets of the Firm realised only Rs.

8,000. Realisation expenses amounted to Rs. 250. A could pay only Rs. 500
from his private property when B was unable to pay anything. Prepare

necessary accounts to close the books.

3rerEr / OR
Ty b aRTST ST 7 AR & YA UR ATt T e (ekaidT ) di
fafirs faferat @t o Hiforr|

Define goodwill. Discuss various methods of accounting for goodwill on

admission of a new partner.

. TNfver A=, JITRT Pl U {5 ARIT SATETENS | &, d IRGT Dl Al AT
AT TR 33 Y5 ufrerd 3R Sired €1 I8 coaver & 718 & 5 o gRT urg It
T7E If3R 1 ufifeT S ¥ geTs drafad & @ § oA a9 efeead

faaRur 4 2007 92008 & foTT SeITETaTE ARIT ISV

M/s Joginder Sons, Agra had a sales branch in Allahabad and charged all
goods sent tothe branch at cost+331;'r3,% itis arranged that all cash received by
the branch is to be paid daily to the Head office account in the bank. From the
following particulars prepare Allahabad Branch Account for 2007 and 2008.

2007 2008
Rs. Rs.
Stock on 1°" January 12,000
Goodssentto branch less returns 80,000 60,000
Debtorson 1°' January 1,500
Cash sentto H.O. 1,24,000 1,00,000
Rent 3,200 2,000
Salaries wages etc. 4,800
Debtorson 31st December 1,600 6,000
Stock on 31st December 14,800 3,000

(iii) ®Y3./PT.0.



Q. 3.

o faeg ax I ad 1956 & g fAman sas|
State important features of CST Act. 1956.

are@r / OR
3T R & &R ATl &b I Pl TS|

Explain purchase and sale of goods in the course of import trade.

foT Tamant § o fefRor rfdreerst g STy @1 guiae AR foam o
HepdT 872

In which condition A.O. Cancil the registration of a dealers under
CST Act. 19567

are@r / OR
I & STER AT b I b TR |
Explain purchase and sale of goods out side the state.

RN e URafid @ 3T 2008 & IFAR DI avqy PR Jad
S P 78 &2 SHDI DR I 8 SRS DI

Describe the exempted goods under RVAT 2003. State Reasons.
are@r / OR

RN g uiNafefd aR MfafM 2003 & SIgAR ARAT & S0l
&I Hfchar TS |

Explain the Procedure of Registration of a dealer under RVAT 2003.

400

(i)
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Note : Attempt any five questions. Each question carries equal marks.

forder : IS uig U g I gt ueAl & p G &

Tehel IR HUITelT Td 98 9~ U bl FHeTTed | 3 Qi1 JoTfordl § T ek 87
Explain Single Tax System & Multiple Tax System. What are the
difference between both system.

are@r / OR
wTfrelidl @) UG SMguTicd ax § a7 IR 8° S A A PAWT 3MUD
SWId 87

Differeneite between progressive tax & propurtional tax. Which is

more appropriate?

IS PRI &b TOT-S FTS |

State Merits and Demerits of Indirect Taxes.
are@r / OR

Hférg fewaforar frfRgu— / Write short notes-

(i) uaer o~ / Direct Tax

(i) 3mTer v / Indirect Tax

(iii) TTfcrefier @ / Progressive Tax

(iv) 3fTuTfcies @ / Propurtional Tax

(i) ®Y3./PT.0.



